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U3LT1 - I can identify properties of an exponential and logistic function and I can graph them.
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U3LT2 - I can identify properties of a logarithmic function and I can graph them. yeH — e ey (X 2)
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5. Create the transformation from the parent graph of y = Inx:
a.) Shift up 8, right 3, vertical stretch of 4 and reflection of the x axis.
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b.) Left 6, vertical shrink of %2 and down 2
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U3LT3 - I can apply properties of logarithms and expenents to simplify expressions.
Simplify. '
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Expand each logarithm.
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U3LT4 - I can apply properties of exponents and logarithms to solve equations.

Solve each equation. Round to 4 decimals places.
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U3LTS5 - I can apply my knowledge of exponential and logarithmic functions to investigate
real world applications

21. You put $2000 into an account earning 4% interest compounded quarterly. Find the amount in the
account at the end of 8 years.

22.  Gold-198 has a half-life of 2.7 days. How much of a 96 g sample of gold-198 will be left after 8.1 days?
B 42,1 3 hdf ey

23: Wanting to buy Cubs World Series tickets you withdrew $4; compound continuous interest
account that you invested $3,500 ten years ago. Find the rate at which interest was earned.
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U3LT6 - I can investigate a scenario and create a regression model that best fits the data whether it be linear,
exponential, or logarithmic.
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Speed (mph) ||, 20 230 40 50
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24. (a) Determine which type of regression is the best fit for this data.
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(b) Find the regression equation for the data. (Round to the 1,000")

P X
Y =10,2609 * |,0WL20

(c) Use your equation to estimate the number of feet needed to stop the car if traveling 80 mph.
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